103-021( 496) (1/1)

cm
10|20
10(20|30
0 10 20 30 40 50 6
g 0.85 0.8 g
1 (VAVAVAVAY] 1.15 3 -
AVAVAVAWA / =
(VAVAVAVAY] 1]1]13] 3
NAAAN 1.45 —
(VAVAVAVAY] =
NAAA N 3
2 \YAYAVAYAY] 25| 1| 1 3 -
Ry AN E
IAYAVAYAYAN R 12 111|133 2.7 E
(VAVAVAVAY] - =
NAAAN =
3 (VAVAVAVAY]
iy SO E
IAYAYAYAY 16 | 15 31 1. 3
3.700 2.85\/ \/\/ A\ —Z—=13.46 E
I =
4 i 4a5] 1|1 2 -
TN /|7 / =
JAUAN 20015 35| 1.7 =
Vil 750 =
5 T =
L —
ZAYANI 3
VAN =
5.80 2.10TulT
6 16-15f 1 | 1 2 =
/|7 / =
25|15 40| 1.9 =
6.55 =
7 7.15 1 =
/|7 / =
7.60 1.8 20|18 38 | 1.4 S =
7.53 — =
105Q¢ \ -
8 Q259 12 | 50 -
7070 8.15 7|7 =
5959 1919 6 | 26 [57.7 =
8.70 1.10 - 9O O 8.41 3
° 9.15 48
} /
14 [ 16|18 |30 49
9.45
10 16 | 50 =
E 10.15 1Y =
E  [0.40 1.00° 14]2]5 25| 6 A =
= 10.40) =




